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1. An auditorium has 20 seats on the first row, 24 seats on the second row, 28 seats on the third row,
and so on and has 30 rows of seats. How many seats are in the theatre?
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2. Suppose you go to work for a company that pays one penny on the first day, 2 cents on the second
day, 4 cents on the third day and so on. If the daily wage keeps doubimg, what will you total
income be for working 31 days?
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3. Logs are stacked in a pile with 24 logs on the bottom row and 15 on the top row, There are 10

rows in all with each row having one more log than the one above it. How many logs are in the
stack?

jﬂ = 508, +A.) {3} ) /%,]

‘e * {22('?74/5->

o 5_(37)

4. A ball is dropped from a height of 16 feet. Each time it drops, it rebounds 80% of the height from
which it is falling. Find the total distance traveled in 15 bounces.
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5. A company is offering a job with a salary of $30,000 for the first year and a 5% raise each year
after that, If that 5% raise continues every year, find the amount of money you would earn in a
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6. Each hour, a grandfather clock chimes the number of times that corresponds to the time of day.
For example, at 3:00, it will chime 3 times. How many times does the clock chime in a day?
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7. A clock strikes once when its hour hand is at 1, twice when it is at 2, and so on. How many times
does the clock strike in six hours? (A&sam wk PRE  STEETING et ! )
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8. A factory owner repays his loan of $2088000 by $20000 in the first monthly installment and then
increases the payment by $1000 in every installment. In how many |n5ta|lments he will clear his
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9. After knee surgery, your trainer tells you to return to your jogging program slowly. He suggests
jogging for 12 minutes each day for the first week. Each week thereafter, he suggests that you
increase that time by 6 minutes per 3ag, How many weeks will it be before you are up to jogging
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10. You complain that the hot tub in your hotel suite is not hot enzo"ugh. he hotel tells you that they
will increase the temperature by 10% each hour, If the current temperature of the hot tub is 290

K, (Kelvin is the absolute temperature scale) what will be the temperature of the hot tub after 3
hours, to the nearest tenth of a degree?  29¢ , 319 , 350. ‘?, e .
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11. A culture of bacteria doubles in population every 2 hours. If there are 500 bacteria at the
beginning, how many bacteria will there be after 24 hours? $o6, 1oGo 2eco, Hooo,

24
et e (L)

-2

E,L, * £38£607500 J

12. A mine worker discovers an ore sample contalhing 500 mg of radioactive material. It is discovered
that the radioactive material has a haif life of 1 day. Find the amount of radioactive material in the
sample at the beginning of the 7" day. 4
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